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Find out which part of the following sentence has an error

(1)
(2)
(3)
(4)
(1) 1
(2) 2

(3) 3
(4) 4

faefafia 9 <0 9 3= 29 qren 9l 98 2

(1)
(3)
(1) 1
(2) 2

(3) 3
(4) 4

Elevate the object of worship
Ethical element 15 a powerful factor in

The religious relation. and the religious life

No Error

A 2y

4 (4) =

1[Option ID=15901]
2[Option ID=15902]
3[Option ID=15903]
4[Option ID=15904]

Sl. No.2

QBID:1007252

Identify the correct indirect speech of the sentence from the option given below :

Neeta said. “Mohan. please open the windows™.

(1)
(2)
(3}
(4)
(1) 1

(2) 2
(3) 3

Neeta requested Mohan to open the windows
Neeta ordered Mohan to open the windows
Neeta requested him to open the windows

Neeta asked Mohan telling him to open the windows




(4) 4

fa=dl U el & 97 &0 #® a7

(A)

(B)

(C)

§B]]

(E)

A fou e fawedi 4 | 9 I 1 994 hifau .

(1)
(2)
(3)
(4)
(1) 1
(2) 2

3) 3
(4) 4

it
0]
HugH
HATgM

HaY

(B). (C). (D). (E). {(A)
(B). (D), (C). (E). (A)
(B). (E), (D). (C). (A)

(C). (B). (D). (A). (E)

1[Option ID=15905]
2[Option ID=15906]
3[Option ID=15907]
4[Option ID=15908]

Sl. No.3

QBID:1007253

From among the four options given. choose the correct sequence in which the four
phrases given below can be arranged to make a meanineful sentence

(A)
(B)
(C)
(D)
(1)
(3)
(1) 1

(2) 2
3) 3

Or in summer

12 either in winter

depending on which hemisphere
vou live 1n, Christmas

(B). (A). (C). (D)

(D). (B). (A). (C)

(2)
(4)

(C). (D). (B). (A)
(&), (C). (D). (B)




(4) 4
aral = ded 4 fefafiga azgi w fa=n $ifo -

(A)  FE & =4 FFET garEd w1 39 2 - gHiad die of |
(B)  gerad fofi o wm & um g #

(C) Y@l 1 ardi | gel wIm &+ T8 @

(D) HEERT 9199 6l HEA & SFHER G e 2|

(E)  HaTE 9ieg Yeld: 3l Tl 61 95 2|

H= feu o faredl 8 | HE I F1 FEH hifa
(1)  &%ad (A). (D). (E)
(2)  @%dad (B). (D). (E)
(3)  @dd (B). (C). (E)

(4)  Had (A). (B). (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15909]
2[Option ID=15910]

3[Option ID=15911]
4[Option ID=15912]

Sl. No.4
QBID:1007254

“Leaders from all over the world wish to emulate Mahatma Gandhi.” From the following
options pick the correct synonym of the word in italics

(1) Obey (2) Elevate
(3) Praize (4) Copy
(1) 1

(2) 2

(3) 3

(4) 4




faet wreg fordl &vad 27

(1) i 9Iee Ush St 319 "qrd 2

(2)  T54 &gl 1 IR A9 HOE B 3 319 fam - 2
(3) o wree fomnl 3ol 3 I=mw HuE A

(4) 1 eg e faof| s gdrd 2
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=15913]
2[Option ID=15914]
3[Option ID=15915]
4[Option ID=15916]

Sl. No.5
QBID:1007255

Given below are two statements :

Statement I: If the word begins with a consonant sound vou would use an.

Statement II : If the word begins with a vowel sound vou would use a.

In hight of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Statement I 1 true but Statement IT 1s false

(3) Both statement I and Statement IT are false

(4) Statement I 1s false but Statement II 1s true

(1)
(2)
(3)
(4)

P W N =

gz gfzen 2 fawdl Mé 4 e1=1 2 F1 | 121 21" 98 9 Ty wan & 27

(1) |y ar (2) e 491
(3)  fux 9w (4) 39 9T

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15917]
2[Option ID=15918]
3[Option ID=15919]
4[Option ID=15920]




Sl. No.6
QBID:1007256

Match List T with List IT :

ListI List IT

(word) (svnonym)
(A) novice (I)  henpecked
{(B) wrath (IT) 1indecent
{(C) ribald (III) beginner
(D} uxorious (IV) rage

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(ILI). (C)-(II). (D)-(I)
(2) (A)-(ID). (B)-(III). (C)-(I). (D)-(IV)
(3) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(IV). (B)-(III). (C)-(I), (D)-(1II)

(1) 1

(2) 2

(3) 3

4) 4

“5fi &1 8§ wegd {1 56 A 4 sH-| WG e g A

(1) 24 a4 (2) 9 g
(3) =fiFr Figs (4)  3Tr9=E "l
(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=15921]
2[Option ID=15922]
3[Option ID=15923]
4[Option ID=15924]

Sl. No.7
QBID:1007257

Choose the correctly spelt word

(1) Conolsseur (2) Connoisseur
(3) Conneisseur (4) Connalssueur
(1) 1
(2) 2
(3) 3

(4) 4




q1g & AT ° "2 fawey & =999 Fifae

(1) 34 gegee i & foer| (2) 34 yegee fiyer|
(3) 39 oo et (4) IR TN Ty
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15925]
2[Option ID=15926]
3[Option ID=15927]
4[Option ID=15928]

Sl. No.8
QBID:1007258

Which of the following 1s a cne-word substitute for ‘the affective bond between people and
place™

(1) Topophilia (2) Biophihia
(3) Neophilia (4) Acrophilia
(1) 1
(2) 2
(3) 3

(4) 4




(A)  va™ A T Bl 21

(B) M @l TTH % T gd =l
(C) emd fem g A 2frm == feu
(Dy  rieft Sft 1w wer s

(E)  Taenfeli @ @eg faen wifg 21 =nfzw)

Hr feu e fashedi d 9 | I H T994 HIfA
(1) & (A). (0). (B)
(2)  %dd (C). (D). (E)
(3)  @dd (B). (). (D)

(4)  Fd (A). (B). (C)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15929]
2[Option ID=15930]

3[Option ID=15931]
4[Option ID=15932]

Sl. No.9
QBID:1007259

Fill up the blank with the correct from of verb :

Seven vears not a long time for the growth of a company.
(1) are 2y  would
(3) were (4) 1s

1) 1

(2) 2

(3) 3

(4) 4




Hel 1 < =519 H=1 11 1 faerd ifae

-1 HH1-11
(&) fodh HgR ®E @O AFE (D HAIEI
(B) Formem Fvig 3 gan 2 (I)  sifgdra
(C) ot Sfiar 4 w1 5 (I s fvffa
(D) Forsest o618 w1 4 &) (IV) 34979

I feu mo fawedi 4 9 w8 39 & =999 Hifao

(1) (A)-(I). (B)-(ID). (C)-(III). (D)-(IV)
(2) (A)-(III). (B)-(IV). (C)-(I). (D)-(IT)
(3) (A)-(IV). (B)-(I). (C)-(IL), (D)-(I1I)
(4) (A)-(IL). (B)-(III). (C)-(IV). (D)-(I}

(1)1

2) 2

(3) 3

(4) 4

1[Option ID=15933]
2[Option ID=15934]
3[Option ID=15935]
4[Option ID=15936]

Sl. No.10
QBID:1007260

Identify active voice for the sentence from the option given below :

The Queen was moved to tears at the sight of the hungry children
(1) The sight of the hungry children moved the Queen to tears
(2) The sight of the hungry children has moved the Queen to tears
(3) The si1ght of the hungry children moves the Queen to tears
(4) The sight of the hungry children had moved the Queen to tears

(1) 1
(2) 2
(3) 3
(4) 4




fFreferfiad arerrsii % 3fa Foar srafted s g g Fiiae -

ETATIfTe

(A) e sman 2
(By 3k

(C) ToshH 9
(D) Wi o

(E) LI

Jr= feu o fawedi § 9 981 39 &1 994 Fifau

i

(1) (D). (C). (B). (E). (&)
(2) (A). (B). (C), (D). (E)
(3) (B). (C), (D). (A). (E)

i(4) (C). (D (E). (A). (B)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15937]
2[Option ID=15938]
3[Option ID=15939]
4[Option ID=15940]

Sl. No.11
QBID:1007261




Consider the following statements about Scientific Discoveries/Inventions :

(A) Electric Computer was invented by Dr. Alam M. Turing
(B) Steam Car was invented by Karl Benz

(C) Electric Battery was invented by Alessandra Volta

(D) Printing Press was invented by John Guttenberg

(E) Radio was invented by Alexander Graham Bell

Choose the correct answer from the options given below :
(1) (E) Only

(2) (A). (B) and (E) only

(3) (B) and (E) only

(4) {A) and (D) only

11
(2) 2
(3) 3
(4) 4

AT T/ SRRl * HaY § Fetaiad we W e fifs
(A)  seifde® FoeE F SRR ST, e UE. g | TR A
(B) et s § TH R T SANTHR 41 2]

(C)  SA=iErg dieel 3 Selfdesh sl T antassr = )

(D) = TeAsE F Tafen 3| F iR oA

(E)  ¥ioiosist T1eA s J 1S4l & aTiashr & a1

Hi= fou o faweai 4 @ @ 5w == Fif
(1) =&« (E)
(2)  Fad (A). (B) 3R (E)
(3)  ad (B) 3R (E)
(4)  Had (A) IR (D)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=15941]




2[Option ID=15942]
3[Option ID=15943]
4[Option ID=15944]

Sl. No.12
QBID:1007262

Match List I with List IT

List I
{A) Election Commission of India

(By National Commission for
Schedule Castes

(C) Finance Commission

(D) Comptroller and Auditor
General of India

List IT
() Article 338
(IT)y Article 148

(ITII) Article 324
(IV) Article 280

Choose the correct answer from the options given below :

(1) {A)-(D). (B)-(IT). (C)-(III). (D)-(IV)
(2) (A)-(D). (B)-(IID). (C)~(IV). (D)-(ID
(3) (A)-(IV). (B)-(III). (C)-(I). (D)-(I)
(4) (A)(IIT). (B)-(D). (C)-(IV). (D)-(IT)

(1) 1
(2) 2
(3) 3
(4) 4
Tt 1% @y gt 11 1 foem Hifse

THl-1
(A) 9na famEa amEm
(B) T STglea S S
(C) Tamt A
(D) WA & FEa% vd gaean W

T=l-11
I 3F=a3% 338
(II) =35 148
(III) =35 324
(IV) =5 280

Hi= Tou v faweqt | 9 "El IO 1 =95 FifAw

(1) (A)(D). (B)«(ID). (C)-(III). (D)-(IV)
(2) (A)-(D). (B)-(III). (C)-(IV). (D)-(II)
(3) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(4) (A)-(III). (B)-(I). (C)-(IV). (D)-(IT)

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=15945]
2[Option ID=15946]
3[Option ID=15947]
4[Option ID=15948]

Sl. No.13
QBID:1007263

Arrange the following in chronological order :
(A) Dandi March

(B) Simon Commission

(C) Poona Pact

(D) Gandhi Irwin Pact

Choose the correct answer from the options given below :

(1) (B). (A). (C). (D)
() (B). (A). (D). (C)
(3) (D). (A) (B). (C)

(4) (D). (C). (Bl (A)

(1) 1
(2) 2
(3) 3
(4) 4




(A) TEiAE

(B)  @mEEA FHEE
(C) I TS
(D) T -zt Tt

= Tqu T el § T WE 390 1 999 HirE

(1) (B). (A). (C). (D)
(2) (B). (A). (D). (C)
(3) (D). (A). (B). (C)

(4) (D). (C). (B). (A)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15949]
2[Option ID=15950]

3[Option ID=15951]
4[Option ID=15952]

Sl. No.14
QBID:1007264




Arrange the following Changes 1 Constitution though Constitutional Amendments in

Chronological order :

(A) 33 percent reservation of certain seats and keyv positions within the panchavat to

Wwomen.
(B) Insertion of 102 Schedule.

(C) Reduce the voting age from 21 vears to 18 vears for Lok Sabha and State Legislative

Assembly Elections.
(D) Introduction of GST.

(E) Addition of ‘Socialist’. ‘Secular’ and Integrity’ in the Preamble of the Constitution.

Choose the correct answer from the options given below :

(1) (C). (B). (E). (A). (D)
(2) (E), (D). (A). (C). (B)
(3) (E). (B). (C). (A). (D)
(4) (D). (A). (B). (C). (E)

(1) 1
(2) 2
3) 3
(4) 4




T HEAl g HiaaH 9 efaiEs afiEd 1t S wremws § gty i

(A)  d=mEd A gieenal &g Fivaa diel vd vgw 9ai w33 vfdwE smeE

(B) 10 s =1 afe

(C) a9l Ud =9 [&99F 991 a1 7 HagH A 9o 21 99§ 18 a9 e o
(D) it vw & A wweE

(E)  wfaam £ weare 0 awsadt qufte s smEsar |ret 5m)

f= feu T o=t § 9 OF I =1 99 Siee
(1) (C). (B). (E). (A). (D)
(2) (E). (D). (A). (C). (B)
(3) (E). (B). (C). (A). (D)
(4) (D). (A). (B). (C). (E)
(1)
(2)

(3)
(4)

A W N =

1[Option ID=15953]
2[Option ID=15954]
3[Option ID=15955]
4[Option ID=15956]

Sl. No.15
QBID:1007265

Who 1s the winner of Jnanpith Award 20227

(1) Damodar Mauzo — Konkam

(2) Akkitham Achuthan Namboothim — Malavalam
(3) Amitav Ghosh — English

(4) G. Sankara Kurup — Malayalam




TS TEER 2022 1 Tosar ®iE 2 7

(1) T 9tal - i (2) AfFhen F=gH Ag(a - HeAaH
(3)  AgaE =9 - St (4) Sft. I FEY - AAAEH

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15957]
2[Option ID=15958]
3[Option ID=15959]
4[Option ID=15960]

Sl. No.16
QBID:1007266

If a lady starting from Neera. met with Aasha and then with Kamala and after this she met
with Diana and then with Paanu. Assuming that during this entire period she walked in a
straight line, then how much total distance did she cover?

(1) 215 m {2y 315 m
(3) 116 m (4) 225 m

(1) 1
(2) 2
(3) 3
(4) 4

uF Aigen T % UG ° "o IE Hdl 2, A0 G Hed 2 o 5 ween o Tedi 2 ek m am sm A
foeft =R T e o) 7% 90 7 T 9% 59 o st | el T § 9ol 3o g el g am e

(1) 215 #i. (2) 315 .
(3) 11s #t. (4) 225 #.

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15961]
2[Option ID=15962]

3[Option ID=15963]
4[Option ID=15964]

Sl. No.17
QBID:1007267




Various terms of an alphabet series are given with one term missing.
AZ, GT. MN, .YB

Choose the correct answer from the options given below :

(1) KEF (2) SH
(3) RX 4 TS
1) 1

(2) 2

(3) 3

4) 4

Ui Afet % fafgg o o4 gu & 9 9 v o 9« 2|

AZ. GT, MN, .YB

&1 o famedi § O o2t I 1 999 Hifan)

(1) KF (2) SH
(3) RX 4y TS
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=15965]
2[Option ID=15966]
3[Option ID=15967]
4[Option ID=15968]

Sl. No.18
QBID:1007268

The statement — "A person without an aspiration is like a computer without a software.’
exemplifies which of the following tyvpes of arguments?

(1) Argument from Analogy (2)  Predictive Argument

(3) Induective Generalization {(4) Deductive Generalization
(1)
(2)

(3)
(4)

A W N =




T TN F HiE AR 9" A7 S 5 AR W R - 9 99 Aefenad 1 8 TR F aw

i ITE R 7

(1)  =GyEd T% (2) it 75
(3) FATTHATCHS AT T (4) eI
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15969]
2[Option ID=15970]
3[Option ID=15971]
4[Option ID=15972]

Sl. No.19
QBID:1007269

Which of the following statements are eguivalent to the statement ‘No teachers are

bureaucrats™

{A) No bureaucrats are teachers.

(B) All teachers are non-bureaucrats

(C) All non-teachers are non-bureaucrats.

(D) Some non-teachers are non-care bureaucrats.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A) and (B) only
(3) (A). (B) and (C) only

(4) (B). (C) and (D} only

(1) 1
(2) 2
3) 3
(4) 4




freafefiaa § @ =9 @ awea 39 a0=9 & 99qed & - “HIs e s a2

(A) IS ArwmE e w2
(B)  TH foe T-Tws 2|
(C)  =m f-Toees - 7
D) Fo T-TuEs F-AwEms £

Hr= fou v famet | | wE I F =9 i
(1)  =ad (A). (B) 31 (D)

(2) & (A) IR (B)

(3) T4 (A). (B) 3R (C)

(4) === (B). (C) 317 (D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15973]
2[Option ID=15974]

3[Option ID=15975]
4[Option ID=15976]

Sl. No.20
QBID:1007270




Which of the following statements are equivalent in meaning to the statement "All nurses are

care givers”?

(A) No nurses are not non-care givers.

(B) All non-care givers are non-nurses.
(C) All non-care givers are nurses.
(D) All non-nurses are non-care givers.

Choose the correct answer from the options given below :

(1) {A). (B) and (D) only
(2) (A) and (B) only
(3} (A). and (D) only

(4) (C) and (D) only

1)1
(2) 2
3) 3
(4) 4

ffefiad a@=l § 9 F19 O @0 o8 9% & gEEe 3 - o 99 cEye #dl 2

(&) FiE ot T R-SEeRal 11 2|
(B) TR @l - A
(C) TR R gEqeFat 79 2|

(D) TR R TH R-SEueEd £

= fqu U ool § ° wE 39 1 =999 FiE
(1)  =ad (A). (B) @R (D)

(2)  =ad (A) 3 (B)

(3)  Fae (A) R (D)

(4)  FaEa (C) 3 (D)

(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=15977]
2[Option ID=15978]

3[Option ID=15979]
4[Option ID=15980]

Sl. No.21
QBID:1007271

A single 6—si1ded dice 1= rolled. The probability of getting either 2 or 5 1s

(1) (2

(3) (4)

o= po| =
W | = oo

1)1
(2) 2
(3) 3
(4) 4

TF HTURYT 6~ THT Fl B S 2| 2 AT 5 S H Wi wr
(1) (2)

(3) (4)

Lol po|e
W | = oo | e

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15981]
2[Option ID=15982]

3[Option ID=15983]
4[Option ID=15984]

Sl. No.22
QBID:1007272

A student has to score 35% marks to pass an examination. If he gets 45 marks and fails by
25 marks. then the marks set for the examinations 1s

(1) 100 (2y 150
(3) 300 (4) 200
(1) 1
2) 2
3) 3

(4) 4




= Taemefi =i oifien o 3 51 % 35% WHEE =eT| TfG 98 45 W UTH FAAT 7 ST 25 WS o ST
=1 ST 2| 99 WA =+ aAfasan 3 2

(1) 100 (2) 150
(3) 300 (4) 200

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15985]
2[Option ID=15986]

3[Option ID=15987]
4[Option ID=15988]

Sl. No.23
QBID:1007273

Match List T with List IT
ListI List IT

(A) Discriminate of equation () has no real root
ax® +bx +c=0

B) x+4x+9=0 (II) has only are root
(C) x%+4x+4=0 (IIT) has two roots
D) x2+4x+3=0 (IV) is b” —4ac

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(IL). (C)-(I1L), (IN-(IV)
(2) (A)-(ID). (B)-(I). (C)-(IV). (D)-(IIT)
(3) (A)-(I). (B)-(IV). (C)-(III). (D)-(IT)
(4) (A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)

(1)
(2)
(3)
(4)

A W N =




Tl 1% @ gt 11 1 ferm it

-1 T 1T
A) wfmm ax®+br +c=0 F fafrE 2] (D B AREES 7 A g

(B) x2+4x+9=0 (II) =1 Fad TF IRAEF 7 2
(C) x%+4x+4=0 (III) % =i ardfa® & 2|
D) xZ+4x+3=0 (IV) b? —dac

4= fou o faweal A 9 wF I F == Fife

(1) (A)-(I). (B)-«(IL). (C)-(III). (D)-(IV)
(2) (A)-(IT). (B)-(I). (C)-(IV). (D)-(1IT)
(3) (A)-(I). (B)-(IV). (C)-(I1T). (D)-(IT)
(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(IIT)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15989]
2[Option ID=15990]

3[Option ID=15991]
4[Option ID=15992]

Sl. No.24
QBID:1007274

Given below are two statements :
Statement I: A and B can do a piece of work in 40 days and 50 davs respectively. Both
begin together. but after a certain time. A leaves the work. In this case. B

finizhes the remaining work in 20 dayvs. A leaves the work in 13 days.

Statement IT: If 12 men can fimish a work 1n 20 days. same work can be finished by 15 men
1n 16 days.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2 Both Statement T and Statement II are false

(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II 1s true
(1) 1

(2) 2




(3) 3
(4) 4

4= =1 = e T

FH1: A 3R B UF ®@ F HA9 40 a7 991 50 {7 5 901 = 3| 91 oF W09 9E F & Wl $9
oo uvEd, A @ 318 gar 2| 3@ uffeafa # B 9w w20 for F mogel w2 A T 13
5 4 = wis @

Foa I1:  Afg 12 =afda vk H 20 o7 1§ 90 *ad 71 36 = #6115 =577 16 767 7 900 w60

I HA AT §, = 5 T fawed § ° wE 39 1 99 HiAu

(1) =¥ 13 [ oA 99 3
(2) ¥ [ 3R [ oH 35 2

(3) =M I°cH 2, wifeha e I 378cd 2

(4)  =eF I 39T 7, ol e 18T 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15993]
2[Option ID=15994]

3[Option ID=15995]
4[Option ID=15996]

Sl. No.25
QBID:1007275




Given below are two statements : One 1s labelled as Assertion A and the other i1z labelled as

Reaszon R.

. . .2
Assertion (A) : The probability that a leap year has 53 Sundays 1s 7
- - |
Reasons (R) : The probability that a non-leap vear has 53 Sundays 12 7

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

1)1
(2) 2
(3) 3
(4) 4

= 31w for e # - v aAfiEes (Assertion (A)) % ®0 ¥ fafiga ® df gow 3% FWUT (Reasons (R))

%Wﬁ

B (DI e S b ssrﬁaﬂaﬁﬁmﬁw%%l

A (R) : ﬁwaﬂﬁﬂrﬁanﬁﬁﬁmﬁw%%i

I FHIA *F AF 5, A= 5 T w3 O g8 39 5 999 $ieu
(1) (&) #R (R) o 561 2 317 (R), (A) it 78 = 2

(2)  (A) 3R (R) o @&l 7, 9 (R), (A) =i @81 =ame T4 &

(3) (A= 2, 9 (R) T8t T8l &

(4 (A) TE = &, o (R)adt 2

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=15997]
2[Option ID=15998]
3[Option ID=15999]
4[Option ID=16000]

Sl. No.26
QBID:1067001

FATIATON T AT :2

(1) s

(3) afaE:

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15201]
2[Option ID=15202]

3[Option ID=15203]
4[Option ID=15204]

(2)

(4)

Sl. No.27
QBID:1067002

ST IR TOTAT &:7

(1) CIREIEGE

-

(3) EEIGETE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15205]
2[Option ID=15206]

3[Option ID=15207]
4[Option ID=15208]

(2)

(4

Sl. No.28
QBID:1067003

ST TR aTcadershraT: Tafaar #:2

IEgATI:
GIEr==ICIr=EE

(1)

(3)

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=15209]
2[Option ID=15210]

(2) gererfRe:

(4)




3[Option ID=15211]
4[Option ID=15212]

Sl. No.29
QBID:1067004

FATTHF 0T Sl &:7

() R (2) SeasE:

(3)  IrcEaTge: (4) HTEA:

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15213]
2[Option ID=15214]

3[Option ID=15215]
4[Option ID=15216]

Sl. No.30
QBID:1067005

A HgIhd: are: &:7

()  9RvmHaRE: (2) HRFHEE:

(3) THadaE: (4) TsHIdEIE:

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15217]
2[Option ID=15218]

3[Option ID=15219]
4[Option ID=15220]

Sl. No.31
QBID:1067006

FAAFHAA T I JOIdT &:?

(1)  araeaaf@Es: (2) IETeTar:
(3) Ui (4) sEA:

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15221]
2[Option ID=15222]

3[Option ID=15223]
4[Option ID=15224]




Sl. No.32
QBID:1067007

oA OEaET H#ATT #:2

(1)  STSereiareany: (2) TATIZUTEATT:
(3)  TgaRREAD: (4) HAYHEAETEA
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=15225]
2[Option ID=15226]
3[Option ID=15227]
4[Option ID=15228]

Sl. No.33
QBID:1067008

AT ATH F:?
(1)  FATHATIV SETESHIdH (2) AT er:
(3 IEEICEECT] (4) wEUIEEr:

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15229]
2[Option ID=15230]

3[Option ID=15231]
4[Option ID=15232]

Sl. No.34
QBID:1067009

HIETehISATET: FHiafae sy
(1) fzfEe 2) ffEy

(3) agfay (4) UHEH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15233]
2[Option ID=15234]

3[Option ID=15235]
4[Option ID=15236]

Sl. No.35
QBID:1067010




37 gaEfed: "3fd Touetsiee #: wfeeny: HRoE?

(1)  ATEEGFATIATOTT (2) FeEEEFATAUIIA
(3)  FAEEGNT: (4) FAAEEGFIHHAATT:
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15237]
2[Option ID=15238]
3[Option ID=15239]
4[Option ID=15240]

Sl. No.36

QBID:1067011

gearauiiaroniRag frafas srofasaae

(1) GRuaE: (2) IdecaafeARY:
(3) wefemEaeT: (4) Fgcead

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15241]
2[Option ID=15242]
3[Option ID=15243]
4[Option ID=15244]

Sl. No.37
QBID:1067012

EHTcaTT HUFAAA T Foa=y &: 3ufer:?
() =RgEA 2 [Bfeaan

(3)  aSrFdcaA (4) IO TaA

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=15245]
2[Option ID=15246]

3[Option ID=15247]
4[Option ID=15248]

Sl. No.38
QBID:1067013




YATTAY: ST T HEadcaaTsy Heahrl HEh: &:7

(1) EEgdAENEA=: (2)

=2

(3) ERBDCIEE (1)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15249]
2[Option ID=15250]
3[Option ID=15251]
4[Option ID=15252]

IATETHTAAG TS [l el
QAT AEA T

-

Sl. No.39
QBID:1067014

fcahedred: Hd HH:?

(1)  Heagedredl O¢ ATy deTalsT sdrds:
(2)  Headedredl 9¢ Tl e d surdh
(3)  HeadedTSil I e AI9h e AT aH

(4)  HedgedTd! I TS dgHIarsT saTdaha

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15253]
2[Option ID=15254]

3[Option ID=15255]
4[Option ID=15256]

Sl. No.40
QBID:1067015

TTRTOT Shree gd:?
(1)  I=agcarair (2)
(3)  Saerediahr (1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15257]
2[Option ID=15258]

3[Option ID=15259]
4[Option ID=15260]

Sl. No.41
QBID:1067016




Sraeail HlcA® WonfeAceare 37 3eTeoTadneT: hreer:?
(1) T3 99 9oNfgAcd d9 99 HicAdcaH

(2)  I9 99 HicAScd o7 WIVTTEHceaA

(3) I HIcH o Hald o Wonfesd = #afa

(4) T SomfeFEe srafe ad WeAwA

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15261]
2[Option ID=15262]

3[Option ID=15263]
4[Option ID=15264]

Sl. No.42
QBID:1067017

Fa-ardedl & w9 anfEa?

(1)  fagemeeagicd: (2) WUETHccdH
(3)  9&THeeaH (4) I=EfOacan

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15265]
2[Option ID=15266]

3[Option ID=15267]
4[Option ID=15268]

SlI. No.43
QBID:1067018

TR dre, G 3 fararald TRIRIdeaa e ol HEd SealHTaEd SETeIvTH?

(1) TeafsaNsg (2) reaafagTET
(3) TEPUHEEg (1) =nfeaeg

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15269]
2[Option ID=15270]

3[Option ID=15271]
4[Option ID=15272]

Sl. No.44
QBID:1067019




Y UTHAET ATHTEAT [hH?

(1)  Hlelcaamaiese: (2) IAFITedH:
(3) TEEUEE: (4) anfeE:

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15273]
2[Option ID=15274]

3[Option ID=15275]
4[Option ID=15276]

Sl. No.45
QBID:1067020

it Gaercalt feem & gt 3T T At ar TS fAediad, e gAm?

(1) TeaoT (2) A

=

(3) STHTAT (1) e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15277]
2[Option ID=15278]

3[Option ID=15279]
4[Option ID=15280]

Sl. No.46
QBID:1067021

TEIRAT SRR U afeRrgacate scaT A Teed: #:2
() A (2) w@F
(3)  HaoT (1) T

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15281]
2[Option ID=15282]

3[Option ID=15283]
4[Option ID=15284]

Sl. No.47
QBID:1067022




3erraEa feored fheaeaa

(1) FEudagdQatelsheds]

P

(2) TIOOFaEAThedd

(3)  FEIREFAGoIABcaH (4) TawFaEEEH
(1) 1

(2) 2

3) 3

(4) 4
1[Option ID=15285]
2[Option ID=15286]
3[Option ID=15287]
4[Option ID=15288]
Sl. No.48
QBID:1067023

ATAAT ATH &HI?

(1)  AREFaTEd: (2) TSR AT
(3) EIGIELEG (4) ST
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15289]
2[Option ID=15290]
3[Option ID=15291]
4[Option ID=15292]

Sl. No.49
QBID:1067024
fafarem wafea: #
(1) Heddl HEaT
(3)  zurthar eursrehT
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=15293]
2[Option ID=15294]
3[Option ID=15295]
4[Option ID=15296]

(2) SToTHUT STolaYET
(4) FremthaT T

Sl. No.50
QBID:1067025




AT TTATVAE HeJATTeh TerseT foher?

(1) ScoToleihcad
(3) wadvafcassscan

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15297]
2[Option ID=15298]

3[Option ID=15299]
4[Option ID=15300]

(2) w¥cA:

(1) Fweavafcasescan

Sl. No.51
QBID:1067026

AT ATFAT A FATIOT Siafaent?
(1) gl () T
(3) §E¥w (4) @
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=15301]
2[Option ID=15302]
3[Option ID=15303]
4[Option ID=15304]
Sl. No.52
QBID:1067027
FATaEAT: TerdT: i
(1) aed (2) Heal:
(3) LI (4) Eafa:
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=15305]
2[Option ID=15306]
3[Option ID=15307]
4[Option ID=15308]

Sl. No.53
QBID:1067028




fasqcd «rA Ry

(1) FrasTeER (2) FOTHTEH
(3)  waHpEAfEcaA (4) |EOTHTEH
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15309]
2[Option ID=15310]
3[Option ID=15311]
4[Option ID=15312]
Sl. No.54
QBID:1067029
Acied are forat
(1)  TAHEaA (2) TOMURCAH
@ e (4) TrEPEeaH
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15313]
2[Option ID=15314]
3[Option ID=15315]
4[Option ID=15316]
Sl. No.55
QBID:1067030
ST FATH 17
(1 e (2) TefeauricaaRermt
(3)  gECUICHRelshal (4) Teafaus
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15317]
2[Option ID=15318]
3[Option ID=15319]
4[Option ID=15320]

Sl. No.56
QBID:1067031




EGI AT
(1)  JrhrRrafesmamhoTerher
(3)  Hoiursshed

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15321]
2[Option ID=15322]

3[Option ID=15323]
4[Option ID=15324]

(2) FoTrHeaateEeTA AHRH

(4) HT=RIMA

Sl. No.57
QBID:1067032

ey o&ivT fha?

(1) TFasgaR
(3) HAATASRUTEH

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15325]
2[Option ID=15326]

3[Option ID=15327]
4[Option ID=15328]

(2) TAGAHHCdccaH

(4) SO dcaH

Sl. No.58
QBID:1067033

Fifsea A17

(1)  Afafass:
(3) Fagatear

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15329]
2[Option ID=15330]

3[Option ID=15331]
4[Option ID=15332]

(2) H9ga:

(1) HagggaeErEdy:

Sl. No.59
QBID:1067034




(3 HiF:

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15333]
2[Option ID=15334]

3[Option ID=15335]
4[Option ID=15336]

Sl. No.60
QBID:1067035

FAGAETH SEeeas dar:

(1) feroan
(3)  eaarEde:

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15337]
2[Option ID=15338]

3[Option ID=15339]
4[Option ID=15340]

(2) =

(4) Erggar

Sl. No.61
QBID:1067036

(1) QARG I HANT:

-2

(3) OTATIT:

e ]

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15341]
2[Option ID=15342]

3[Option ID=15343]
4[Option ID=15344]

(2) OTATOEHIEINT:

(4) TR

Sl. No.62
QBID:1067037




TIIT &: gt Ieqe?
(1) g w

(3)  SRATOIE: a@ﬁ&:

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15345]
2[Option ID=15346]

3[Option ID=15347]
4[Option ID=15348]

(2) SEAU: TR
(4) gffremRE:

Sl. No.63
QBID:1067038

FrEEaRATTED fifeT FRenfa FfE

(1)  HUcaHAGecag Hcdne

=

(3)  TSEIOATITIEE:

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15349]
2[Option ID=15350]

3[Option ID=15351]
4[Option ID=15352]

(2) TSEOTITLATOTEHAE:
(4) TSEAIRATIINF AT

Sl. No.64
QBID:1067039

EeguUThITdag cale &: 3[0T: JT?
= = 5 pe]

(1)  SAUHITLHATITH

a3 -

(3) FUTeh&9H

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15353]
2[Option ID=15354]

3[Option ID=15355]
4[Option ID=15356]

Sl. No.65
QBID:1067040




e AT LA, el #TTAA?

() CUSTh=aTde (2) T
(3)  URHAVATAA (1) FrfhRETIE=

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15357]
2[Option ID=15358]

3[Option ID=15359]
4[Option ID=15360]

Sl. No.66
QBID:1067041

e @HARgaed 80 seraReedfrmaeacae, s aEgcfadeet $

(1) HATE @ iy

(3) AR (4)  HTeprer
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15361]
2[Option ID=15362]

3[Option ID=15363]
4[Option ID=15364]

Sl. No.67
QBID:1067042

gaE e IR Zaera T ATUTsi4 Frdicd Bl Eaeca e HRTedcdre ScdeTAl (o [HeEf?

(1) Sraraiaae: (2) g

(3)  erATerAT (4) STHATAH
(1) 1
2 2
(3) 3
(4) 4
1[Option ID=15365]
2[Option ID=15366]

3[Option ID=15367]
4[Option ID=15368]

Sl. No.68
QBID:1067043




FHAfCISTelet HEPRED HEHIROT: h?
()  HgeEd=E: (2) wiFaFeET:
@ fogeddae: (4) GEARIE:

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15369]
2[Option ID=15370]

3[Option ID=15371]
4[Option ID=15372]

Sl. No.69
QBID:1067044

=gt FaEn: &

(1) - OF- 3G gearHHTaHA

(2)  TA-HOH- TGl T8I G- HeA= HTIOT- 3 AT - H AT 3T
(3)  OA-H - HI G- HATA-HATAHT: geareTad

(1)  TEAT-AATAT-H A goas T aShA,

()
W
N
A W N =

(4)

1[Option ID=15373]
2[Option ID=15374]
3[Option ID=15375]
4[Option ID=15376]

Sl. No.70
QBID:1067045

Sedr ATH &

(1)  decagsicar: ST (2) IHTATEAGA HAT
(3) TATETEUTIATE [T Shell (1) IHTETHAAA dfoTaiTaeneT

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15377]
2[Option ID=15378]

3[Option ID=15379]
4[Option ID=15380]

Sl. No.71
QBID:1067046




wree: e a[oTed Bt 3R caTd sfo v e g

(1) mAdRdvoniig: (2) madfETeafas:
(3 grIfYwonfae: (1) wEATEIsTEG:

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15381]
2[Option ID=15382]

3[Option ID=15383]
4[Option ID=15384]

Sl. No.72
QBID:1067047
HeATe AT AeATCTHFHET: HF Headdied?
-

() =mnfafesafiamy

(1) FfArgEuERNY

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15385]
2[Option ID=15386]

3[Option ID=15387]
4[Option ID=15388]

Sl. No.73
QBID:1067048

HFFUATOT ST Yee ey ITeel IReheea quonfaier fhaeaa?

(1) BodTaT:
(2) IGE RG]
(3) ToA
(4) CIICE
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15389]
2[Option ID=15390]
3[Option ID=15391]
4[Option ID=15392]




Sl. No.74
QBID:1067049

IR HA-HIHSTH-HTe e TETaw: 17

(1) & (2) Sifer:
(3 foeea: (4) T
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15393]
2[Option ID=15394]
3[Option ID=15395]
4[Option ID=15396]
Sl. No.75
QBID:1067050
3caH GEIES) ot &7
(1) T (2) YN
(3) ea@w: (4) OTRAFIH
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=15397]
2[Option ID=15398]
3[Option ID=15399]
4[Option ID=15400]

Sl. No.76
QBID:1067051

Yo T4 ErET: 2

(1)
(2)
(3)

T fcca O e Hocd ([A9&TTHecallel
FeareafaeareeaaesrE:
safaRfarafag:

(4  TErE-HEn

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15401]
2[Option ID=15402]

3[Option ID=15403]
4[Option ID=15404]




Sl. No.77
QBID:1067052

NG9 1H &7

(1)  3ncafedesg @fdg: (2)

| (4)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15405]

2[Option ID=15406]

3[Option ID=15407]
4[Option ID=15408]

BN rqfc'r'u-i-:h\g{gwﬁd

CRSIEE I

Sl. No.78

QBID:1067053
() 2dR g SToadnor usTawar: usqeed: TEedut
(2)  ¥RR 935 Sfeaanor IsTavan: Isaee: §Ug TH
(3) MR uZ sheEaior usiawar: ysqee: aAmeH
(4) 2R 93 sfeaanior ysawar: Ysqead: &a sfdear
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15409]
2[Option ID=15410]
3[Option ID=15411]
4[Option ID=15412]

Sl. No.79
QBID:1067054

“forera FToTaT et ar s He: HE 3EEeTEy

(1) HETHERCHET (2) TAWEFEGHIET
(3 Tuufaasg (4) AR
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15413]
2[Option ID=15414]




3[Option ID=15415]
4[Option ID=15416]

SlI. No.80
QBID:1067055

AASAT ‘Ao sfeadcan s Frewr: Aged:?

HFade A g
HEEOTTag e

(2)
(4)

(1)
(3)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15417]
2[Option ID=15418]

3[Option ID=15419]
4[Option ID=15420]

Sl. No.81
QBID:1067056

3YATET AET0T foha?

(1) A CREECE) (2)
(2 g+ ded [asdMddghadaTs EY)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15421]
2[Option ID=15422]

3[Option ID=15423]
4[Option ID=15424]

T FreaI e Na de T H

Sl. No.82
QBID:1067057

HAGITEIET Thelcaarteht g: F:7

(1) HETelcd#H (2)

(3) fEean (4)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15425]
2[Option ID=15426]

3[Option ID=15427]
4[Option ID=15428]

Sl. No.83
QBID:1067058




A Ta e TR AJ1H &7

(1)  FromEsfT FRcae:

(3)  HRUTHTd hREETdH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15429]
2[Option ID=15430]

3[Option ID=15431]
4[Option ID=15432]

Sl. No.84
QBID:1067059

SRATHIHA, HeTATA foha?
(1) T $eateird i
2  TEcTsTulE s ST
(3)  =Tg SraffAd wrdcara
(4)  $¥E: AIchdl TaAcad
(1) 1
2) 2

(3) 3
(4) 4

1[Option ID=15433]
2[Option ID=15434]
3[Option ID=15435]
4[Option ID=15436]

Sl. No.85

QBID:1067060

zTe ufer & Ro
(1)  FAFeaATOIE RISl Ao
(2)  TeEHledATONEaTE A S ST HOI TS
(3) SRR A drgale I
(4)  AOfafsea:

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15437]
2[Option ID=15438]




3[Option ID=15439]
4[Option ID=15440]

Sl. No.86
QBID:1067061

TegaTe o ATA ha?
(1) degidesAcad
(2) veriTHA

(3)  ATlEsheasd
(4)  graiHeecd Aid Tegildiecighedl GHoodH,

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15441]
2[Option ID=15442]

3[Option ID=15443]
4[Option ID=15444]

Sl. No.87
QBID:1067062

e RsRaEcSEsaT & feeafa

(1) oedcdH (2) 9OTaH

= =

(3) ®HAH (4) Hear

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15445]
2[Option ID=15446]

3[Option ID=15447]
4[Option ID=15448]

Sl. No.88
QBID:1067063

HATIETI! fAcacagel FAfceareaarony FafRda?
(1) HIE (2 =
(3)  ®AM (4) A

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15449]
2[Option ID=15450]




3[Option ID=15451]
4[Option ID=15452]

Sl. No.89
QBID:1067064

HTFEET AT fcicd ardeh e

(1) doedcaH (2)

e | -

(2 FcaNE: (4)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15453]
2[Option ID=15454]

3[Option ID=15455]
4[Option ID=15456]

Sl. No.90
QBID:1067065

ATV WER Hewh: F:2

(1) T (2)

b

(@ S (4)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15457]
2[Option ID=15458]

3[Option ID=15459]
4[Option ID=15460]

Sl. No.91
QBID:1067066

HHAAT T dATH [hd?

(1) Foaoerdaa (2)
(3 fAcgauER (4)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15461]
2[Option ID=15462]

3[Option ID=15463]
4[Option ID=15464]

Sl. No.92
QBID:1067067




FATATATY geriEn a7 et
(1)  A¥caH
(3) THTaH

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15465]
2[Option ID=15466]

3[Option ID=15467]
4[Option ID=15468]

(2)
(4)

Sl. No.93
QBID:1067068

qiftATvE=T AT B
(1) St
(3) HHE:

Lo

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15469]
2[Option ID=15470]

3[Option ID=15471]
4[Option ID=15472]

Sl. No.94
QBID:1067069

ardt ey oM Fefea?

(1)  ager
(3 @&

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15473]
2[Option ID=15474]

3[Option ID=15475]
4[Option ID=15476]

(2)
(4)

ol
Tehre?l

Sl. No.95
QBID:1067070




afrsedReeaae fF FRem

(1) fodwoTa=A
(3) TNUTATaTOcR RN S ATHH

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15477]
2[Option ID=15478]

3[Option ID=15479]
4[Option ID=15480]

(2) afdreeaa=a
(1) MEsma=a

Sl. No.96
QBID:1067071

wsTaereaal gd: &7

(1)  HTAROIET:
(3)  SggoEnen

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=15481]
2[Option ID=15482]

3[Option ID=15483]
4[Option ID=15484]

Sl. No.97
QBID:1067072

SEATcA FTE: el Bl HyoT AEUN?

(1) HOFaaAddaAddcaesThyoT

(2)  EAGIHETAFEIT

(3) TOFaaAdaaAddaEITIar

E=]

(4)  EOFdiadEoTIar

b=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15485]
2[Option ID=15486]

3[Option ID=15487]
4[Option ID=15488]




Sl. No.98
QBID:1067073

U UCTHTED TIRI o ST, Fel:?

(1) CIGEIEGRCIE IEEEG] (2) HTSTRIATET

=

(3)  wUETEd (4) demwiagrgaTatsufEea

- 3 -

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15489]
2[Option ID=15490]

3[Option ID=15491]
4[Option ID=15492]

Sl. No.99
QBID:1067074

Helrralrasd: sfafEe:.

(n  &fEwr (2) fzfEe:

(3  wsfaw: (4) YSAE:

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15493]
2[Option ID=15494]

3[Option ID=15495]
4[Option ID=15496]

Sl. No.100
QBID:1067075

TR Teeeer sfar amepaveae dietcasg o 1 afesador

(1) AT AL (2) wgEE

(3)  FToreTolT (4) TgFaOIEAT

-3

(1)
(2)
(3)
(4)

A W N =

1[Option ID=15497]
2[Option ID=15498]
3[Option ID=15499]
4[Option ID=15500]







